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sin(—0) = —sin# sin (9 + g) = cosf sin(@ + m) = —sin@
cos(—6) = cosh cos (9 + ) = —sind cos(@ + ) = —cosh
tan(—6) = —tand tan (9 ) 0 tan(6 + m) = tan@
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sin(a + B) = sinacosf + cosasinf sin(a — B) = sinacosf — cosasinf

cos(a + B) = cosacosf — sinasinf cos(a — B) = cosacosf + sinasinf
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tan(a +,3) _ tana+tanf tan(oz _ﬁ) _ tana—tanf

1-tanatanf 1+tanatanf
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sin 2a = 2sinacosa

cos 2a = cos?a — sin®a = 1 — 2sin?a = 2cos?a — 1
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tan(a + B) = ora
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asin 6 + bcosf
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= Va2 + b%(sin B cosa + cosBsina)
=+Va? + b?sin(0 + a)
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